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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. A choice is to be made between two proposals which 

required an equal investment of ` 50,000 each and are 

expected to generate net cash flows as under : 

Years 
Project A 

(`) 

Project B 

(`) 

1 25,000 10,000 

2 15,000 12,000 

3 10,000 18,000 

4 Nil 25,000 

5 12,000 4,000 

6 6,000 4,000 

The cost of capital of the company is 10%. Which 

project should be choosen under : 

(a) Pay-back period 

(b) NPV method 

Discounting factors at 10% are 0.909, 0.826, 0.751, 

0.683, 0.621, 0.564 for 1 to 6 years. 

nks izLrkoksa esa ls pquko djuk gSA izR;sd esa ` 50]000 fuos’k 

gksuk gSA ‘kq) udn izokg fuEu izdkj gS % 

o”kZ 
izLrko A 

(`) 

izLrko B 

(`) 

1 25,000 10,000 

2 15,000 12,000 

3 10,000 18,000 

4 Nil 25,000 

5 12,000 4,000 

6 6,000 4,000 
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dEiuh dh iw¡th ykxr 10% gSA dkSu&lk izkstsDV pquuk 

pkfg, % 

¼v½ iscSd vof/k ds vUrxZr 

¼c½ NPV fof/k ds vUrxZRk 

10% NwV ?kVd 1 ls 6 o”kZ ds fy, 0-909] 0-826] 0-751] 

0-683] 0-621] 0-564 gSaA 

2. What is Financial Management ? Explain the 

objectives and functions of Financial Management. 

foŸkh; izcU/k D;k gS \ foŸkh; izcU/k ds mís’; ,oa dk;ksZ dh 

foospuk dhft,A 

3. Explain the various sources of long-term funds 

available to companies in India. 

Hkkjr esa dEifu;ksa dks miyC/k fofHkUu nh?kZdkyhu dks”kksa ds 

lk/ku dh foospuk dhft,A 

4. Define working capital. Explain the determinants of 

working capital. 

dk;Z’khy iw¡th dh ifjHkk”kk nhft,A dk;Z’khy iw¡th dh ek=k 

dks fu/kkZfjr djus okys rRoksa dk o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Calculate weighted average cost of capital from the 

following informations : 

Source 
Amount 

(`) 

Cost of 

Capital 

Debentures 5,00,000 12% 

Preference Shares 8,00,000 8% 

Equity Shares 12,00,000 15% 

Retained Earning 5,00,000 15% 

fuEufyf[kr lwpukvksa ls iw¡th dh Hkkjkafdr vkSlr ykxr dh 

x.kuk dhft, % 

lzksr 
jkf’k 

(`) 
iw¡th dh ykxr 

_.ki= 5,00,000 12% 

vf/keku va’k 8,00,000 8% 

lerk va’k 12,00,000 15% 

izfr/kkfjr ykHk 5,00,000 15% 

2. The following data are given in respect of a company : 

(i) Earnings per Share (EPS) ` 20. 

(ii) Rate of Return on Investment r = 15%. 

(iii) Rate of Capitalization/Cost of Capital = 10%. 
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On the basis of the above information compute the 

value of company’s share using Gordon’s model under 

each of the following retention ratios : 

(a) 20% 

(b) 40% 

(c) 50% 

(d) 60% 

,d dEiuh ds lUnHkZ esa fuEufyf[kr vk¡dM+s fn, x, gSa % 

(i) ykHk izfr va’k  (EPS) ` 20. 

(ii) fuos’k ij izR;k; dh nj r = 15%. 

(iii) iw¡thdj.k@iw¡th dh ykxr dh nj = 10%. 

mi;qZDr lwpuk ds vk/kkj ij xksMZu ekWMy ds vuqlkj dEiuh 

ds ‘ks;jksa ds ewY; dk vkdyu fuEufyf[kr izfr/kkj.kk 

vuqikr ds fy, dhft, % 

¼v½ 20% 

¼c½ 40% 

¼l½ 50% 

¼n½ 60% 

3. Explain the concept of ‘Time Value of Money’. 

^eqnzk dk le; ewY;* dh vo/kkj.kk dh O;k[;k dhft,A 

4. What is meant by leverage ? What are the various 

types of leverages ? 

^yhojst* ls vki D;k le>rs gSa \ ^yhojst* fdrus izdkj ds 

gksrs gSa \ 
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5. Discuss the factors which must be considered while 

designing capital structure. 

iw¡th <k¡pk cukrs le; fdu dkj.kksa dks /;ku esa j[kuk 

pkfg,] mudk o.kZu dhft,A 

6. Explain the determinants of ploughing back of profits. 

ykHk ds iqufoZfu;ksx ds fu/kkZjd rRo dh foospuk dhft,A 

7. Explain the various steps of cash management. 

jksdM+ izcU/k ds fofHkUu vk;keksa dh O;k[;k dhft,A 

8. What do you mean by Receivable Management ? 

Discuss its objectives. 

izkI;ksa ds izcU/k ls vki D;k le>rs gSa \ blds mís’;ksa dks 

le>kb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Managing a firm’s finance is both Art and Science. 

fdlh dEiuh ds foŸk dk izcU/k dyk Hkh gS vkSj foKku HkhA 
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2. Financial planning is essential only for large 

businesses. 

foŸkh; fu;kstu vko’;d gS] dsoy cM+s O;olk; ds fy,A 

3. Lower depreciation charge means higher tax liability. 

de kl izko/kku dk vk’k; ns; dj esa o`f) ls gSA 

4. Cost of retained earning is the part of cost of capital.  

lafpr vk;ksa dh ykxr] iw¡th ykxr dk gh Hkkx gSA 

5. Financial leverage is sometimes called as Trading on 

Equity. 

foŸkh; yhojst dks VªsfMax vkWu bfDoVh Hkh dgk tkrk gSA 

6. Stability of earnings affect capital structure.  

vk; dh fLFkjrk iw¡th <k¡ps dks izHkkfor djrh gSA 

7. Cash Dividend and Interim Dividend both are same. 

udn ykHkka’k ,oa vUrfje ykHkka’k nksuksa ,d gh gSaA 

8. Operating cycle method is used for computing working 

capital. 

lapkyu pØ fof/k dk;Z’khy iw¡th dh x.kuk dh fof/k gSA 

9. Fixed expenses are not entered in cash budget. 

jksdM+ ctV esa LFkk;h O;;ksa dks ugha fy[kk tkrk gSA 

10. Receivables are parts of Current Assets. 

izkI;] pkyw lEifŸk;ksa ds gh vax gksrs gSaA 
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